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QUESTION 1

A telecom company is interested in improving customer engagement on social media. However, there are hundreds of
relevant messages posted every day, and it is not practical for customer service representatives (CSRs) to review and
respond to all messages. Instead, CSRs should focus on negative messages.

What do you need to analyze the incoming messages?

A. Predictive model

B. Adaptive model

C. Text categorization model

D. Text extraction model

Correct Answer: D

QUESTION 2

To enable an assessment of its reliability, the Adaptive Model produces three outputs: Propensity. Performance and
Evidence.

The performance of an Adaptive Model that has not collected any evidence is

A.1-0
B. null
C.05
D.0.0

Correct Answer: D

QUESTION 3

A Scoring Model allows you to differentiate between
A. Good, Bad, Unknown

B. Good, Better, Best

C. Accept, Reject, Maybe Later

D. Good, Bad

Correct Answer: D

Reference: https://pegasystems2.https.internapcdn.net/pegasystems2/marketing/C-762- StudentGuide.pdf
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QUESTION 4

Which property is automatically recomputed for each decision component?
A. Propensity

B. Priority

C. Order

D. Rank

Correct Answer: A

QUESTION 5

A company uses a Monte Carlo data set containing customer information for testing. They want to extend the data
model to include all credit card product usage data. Customers may have multiple cards. To extend the customer data
model with the credit card product usage data, you need to

A. add a Field

B. add a Group

C. merge customer and credit card data
D. create a Provider

Correct Answer: C
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